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LGS-o — GQung oifley

Part-A — General Studies

Slamssdr : 1-100

Questions : 1-100.

Grgs wHuQuerser : 150
Total Marks :150

1.

Which one of the following pairs is wrongly matched?

Revolt
() Ramosis —
A Kuka - -
(TII) Santhals —
(IV) Kittur —
(A) (@D and (IID only

(B) (III) and (IV) only

V€T (IV)only -

(Dy (III) only

(E) Answer not known

Area

Poona

Punjab
Orissa
Malabar

Slerausly @aemaalle sauprarsupenn ser@ @y

&erivéd)
M G -

() @sr -

(III) shseen -

(IV) £:@n -
(A) M womos (1) wepo

LS
LL&wT
LIEREML]
@ilamr |

WeoLImir

(B) (D wogn IV) wiGd

C) {IV) w o
D) (IID) wr G

(B) eafent . Qsfluefdama
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9 “Problem of the Rupee” is the thesis submitted by
\)A{ Dr. B.R. Ambedkar

B)
(©)
M)
(1)

M.C. Ranade
J.C. Kumarappa
Mahalanobis

Answer not known

“exumifar S éemen sremD ooy blbensan FOMASGTI,

(&)
(B)
©
D)
(E)

I 7T L TN T T
war. Gem. mrenGl

G&.aﬂ; @LOIUILIT
paEraGarmAev

aflenL Qafwehidhane

3. Who wrole a seriez of articles entitled ‘New Lamps for 0142

(A)
(B)
(©)

Dinshaw Wacha

Dadabhai Naoroii

Surendranath Banerjee

\ﬂ'ﬁ Aurobindo Ghosh

(k)

Answer not known

‘flyy, eomdraey ol Baurd’ oeamguie gepelndd: s Rengg Gsm fenen
ET(LSIISUT Wi ? : -

(A)
(B)
(€
@)
(1)

Zemas GITdeT
gugrLmi Qper3rre
FGridlypirs unarrs
oraflECam Carey
adlan Goflushlama
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Match the following correct Institutions with its location :

(8) NIFPHATT
(b) CICEF

(c)y NFDB

d) CAA

SECY RN ()
LA 1 2
V2L
© 2 4
m 3 1

(E) Answer not known

(e)

4

1.

2
3.
4

Bangalore
Kochi
Chennai
Hyderabad

(d)

4
3
g
p/

Hereumid B peartisamar g o flw rer @@L‘Jﬂ]l_ggu__m QumGssalh

(a) NIFPHATT
(b) CICEF
(& NFDB

(d) CAA

@ @
A 1 2
B 2 1
© 2 4
3 1

(E) oflen . Qafeldena

(©

3
4

1.

4

L.

QUEIEEF(m

2. Qamed
3.
4

Cearanar

m@mggnuwg

(d)

BS &0 Co0 e

5 COSE21/2024
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5. Assertion [A] : In India, the traditional small seale industries '
have greater employment potential than the
modern small scale industries.

Reason [R}] : The value of capital per worker in traditional
small scale industries is smaller than the value of
capital per worker in the modern small scale
industries.

\M Both [A] and [R] are true and [R] is the correct explanation
of [A] '

(B) Both [A] and [R] are true but [R] is not a correct explanation

of [A] "

(C) [A] is true but [R] is false

(D) [A] is false but [R] is true

(E) Answer not known

app [A] 1 @ndwurell Lt ApIG s ser D Fla

Gaepeau miienL refiar  Hpl g nfldsanarall
LG A
argem [R] : umpbufu ApGsmplosaia Qamienearhée GhameL (b

epgar LHIL Genarsed peier fy Gsmfiasafid
QgrdleremHéE Cgeameuu(pb ADEDE BT 15
FFEDOTFEGYD 2 aTaigl.

(A} Al wpgw [R] @ravpo oi whybd [R] sreiug [Alssmer efuiner

cfllendsElh

B [A] wppod [R] @ravpn o opema [R] eadrig [A] e sfume
alerdsid [@dens - g=

(©) [A] o gemma [R] 'g_r,@_@l
©) 1] sorpy e [R] o
(E) eflen Gaflwaena
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Which of the following statement is correct?

(a)
(b)

(A)
¥
(©)
(D)
(£

Equitable development is the main target of Eleventh Five

Year Plan (XI FYP)

Rapid, sustainable and more inclusive growth are main targets

of Eleventh Five Year Plan.
Boi;h (a) and (b) are correct
(b) alone is correct |

(a) alone is correct

Both (a) and (b) are incorrect

Answer not known

G emeupeuseupmiaT srgl sfuimarensu 7

(a)
®

@)
®
©
o)
®)

Fieggalomer waGatpw llag prsrarhs S gddr Gprasnmgs.
SFGaus.omer, Plamawrer whpb Sstiugurer o drer S8 wmr‘r&eﬂ
lleug gepsrerfis ﬁlir_‘e_'r,‘é,ldr'r p&EL Gpréshisengb

(a) wpmb (b) @rarfid sfwurerae

(b) LG #Awrang

(&) L@ &rﬂwrrﬁn@

(&) whpnbd (b) G rewE b geu;bnmmm

G:S]énL_ Gafusideae
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7. Which among the following is correct regarding the target of literacy
in Tenth Plan? -

to increase of literacy to 75% within the plan period
“(B) to increase of literacy to 80% within the plan period
(C) to increase of literacy to 70% within the plan period
(D) to increase of literacy to 85% within the plan period
(E) Answer not known
Sera Geaiamapner LssTaTh  sreogdd  sflumar sheflufla] Csmrumern
Bk :
(A) frissrazdo T5 elpiarns saaflubleis ewiire
(B) £ ssregdae 80 dpssrn s socdudeiis  wia
Q) Frissresde T0 dlpdsnts soeiybafld ewie
(D) Fossragdo 86 efgssm s saeluflsfld e uita)
(E) eflen_ GgMwellcana

8. Congider the following statements and identify the correct Answer :

(A) The Central CIC is eligible for reappointment but the State
CIC is not eligible for reappointment

(@) The State CIC is eligible for reappointment but the Central
CIC is not eligible for reappointment ;

() Both-are eligible for reappointment
\J(Eﬁ Both are not eli'gible for reappointment
(E) Answer not known
Spsrgnid s hnis@ar s(h3H® Qerard, aflurer ellan LS CaECsHES :

(A) 5HL B@wEsn SIOID U@ETUIHES CHBEIDILD Eng;ﬁmm. 53,61 60
DT SR S JmamU(hEd DHIHILINGTLD ENgEI D6

(B) LMfl® S@DM0 SHED TG WHEALISETE FTSEUD, HaTe
581 Fememn SHaId JLOMILHHE wofnnand FIEELIDH

C) BEaunpsatn npBluneand stgdunb

D) Bmeimésdw wpFlunenh FrEdunda
() &fle Gsfusidae
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Find out the incorrect statement ahout the Sarkaria Commission :

(@)
(i)
(i)
({v)

The Commission was appointed on 1983
The Commission made 247 recommendations
The Commission recommended to scrap the Article 356

The Commission recommended that the residuary powers of

taxation should be given to the states

\M (iii) and (iv) only

(B)
(€
)

(i1) and (i1i) only
only (iv) |
(11), (i) and (Gv)

(E) Answer not known

gissmilur e ubnilu seiprar abhlaer sam Hs

(i
{11)

(i)

(1v)

;Y
(B)
(C)
)
()

Fidgamilun <y enewruib 1983-1s G () FHLUHSSIICLF)
Bps e 247 uflpgmrame sieflsss
s 856-g Boeuspe Bbs amend Lfpgmrsss

aufledlgide oamer ergrfll  sFsmrhssar orflomselln  G(rsés
Ceuamid et Ghs Speramub UAbSINTESS.

(iii) whpd (V) L@
(i1) whoud (1il) we@ED

{iv) @b

(i), (111) whgud (1v)

alenL. Cgflusfldena
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10. Choose the correct pair :
Name of the President
{1) Dr. 8. Radha Krishnan
(2) Dr Zakir Hussain |
(8) Fakhruddin Ali Ahmed
{4) N. Sanjeeva Reddy
{A) (1)'rand (2) are correct
V(ZS (3) and (4) are correct

(E) Answer not known

efluner &) cnemren SeRTLkla :

Elg LITES et Ui
(1) Dz, 5. mgn £ Eeimaneir
(2) Dr. orfir 2 Goean
(3)  usmEsir edl =F0G
(4) N. sepfeu Qi
(A (1) ooy (2) sflwners
(C)  (3) wpgui (1) sflureng

(E) aﬁ]mu.@g)lﬂmeﬁdzm@

CCSE2T/2024
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Elected Year
— 1961
— 1966
- 1974
— 1977
(B) (2) and (3) are correct

(D) (1) and (4) are correct

CaiBOEHEENUL e
— 1961

— 1966

— 1974

— 1977

B (2) oppe (3) siurag

(D) (1) eoHonb (4) sfwtang
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1i. Find out the incorrectly matched.

() Article18 -
(ii) Article 21 -
(i) Article 23 -
(v) Article20 -

Abolition of Titles

Protection of life and personal liberty

Protection against arrest

Right to free movement

v@)((iii) and (iv) are incorrectly matched .

(B) (ii) and (iii) are incorrectly matched

(C) (@) and Gv) are incorrectly matched

(D) (i) and (iv) are ‘incnrrectly matched

(E) Answer not known

Sipsaam_cinner seuprer Geaemani Sar_Hs :

()
(i)

(iii)
(iv)

(&) -

®)
©
()
(o)

gl zmuri 18

FLL ey 21 -

FUL eply 23

FL. zmii 20

UL Lriganar @lflssed

e Wfeumpaed wHmb sef wells aapHTESbSsTar

UGS

BT Gla:u‘.lu_luu@m@aﬂ@rjﬁgj urrgjasrrug

- s3BTors pLbrhasperer efiaw

(111) wpye (iv) seuprer @ aneas

(i1) ILD‘Ij)g]ij (i) paupmar Ganeo

@) wppbd (iv) sauprer Gemer

(i) wppe (iv) sauprer Fenamr

sflerL. Ggflwelldana
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12. Which of the Vedic Gods is described as the *Destroyer of cities™?
(A) Agni ' \J‘B{ Indra
{(C) Rudra (D) Vishnu

(E) Answer not known

‘Berhismar SfLuat e abs Ceupd ELad el LGEnmi?
(A)  ise (B} @by

(@) msver _ (D) efcsam

(E) <fewr dgflweildeae

13, Which one of the following is not correct about Harappan culture?

\M All Harappan sites are urban character

(B) The Harappan cities depended on villages for food and
labourers |

(C) Harappan remains discovered even at emall village sites
(D) The most distinctive feature of Lathal is dockyard
(E) Answer not known

Epsdm_suhmiedr gprour EIEMSD ubdl seunrer smOm H 7
(A)  empiur profaga owmabs @LbsEED B prafsh Garadrg

(B) @pruur psnmsd 2 essyssrse|d, LailimeTiE@GEsTEalD Sl hsensr
ST GBS
(C)  awyuun prafissder sesmsar S Aymotsafignd HeaLsfapg

(D) Gengsdenr SpUibsd Famnopsit S
(F) eer Ggfluailoma

CCSE2T/2024 12 B
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14. The Gupta emperors before Chandragupta-II issued only

ol 1

coins.

i Gold -

(B) Silver
(C) Tin
() Copper

(E)

Answer not known

- @uemiimd  spdr  GUSREEG  hasll  @EUg  baTansd

pravwisest oL HGw Heueatluldl et

(A)
(B)
©
D)

(E)

eflan Wz flweldena

Haque-i-Sharb (or) Hasil-i-Sharb means

(A) Land Tax ’ \,(Er Irrigation Tax
(C) Commercial Tax (D) Toll Tax

(E) Answer nui: known

anNs- 21 -eeril Bjedeg aupelld-E-a il ereuger CumEer

(A)

B) Biroursar eulfl

(C)  susmfig eufl | D) swus sl

() e QesNweaideame

13 . CCSE2T/2024
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16. Which of the following is correctly paired?

(1)
(1)
(i)
(iv)
(&)
®)

Hematite Ore —  Ozxide of iron

Magnetite Ore —  Black ore

Limonite '~ Dolomite
Siderite —  TIron Carbonate
(i) only

(11} and (iii) only

A (0, (i) and () only

)

(111 and (iv) only

(E) Answer not known

Gereu(pauereupbled eraneu efluirs E)amenmassLl (Hemerar?

Q) GepweLl srg - HobGdr ademsd
@)  CosewLi srg —  seLU sTE
(iil) eNGmensm. - Grmeanint’

(v} fresm - Amby sriuGear
(A) () oo

@ G oppe i) wogn

€) @), (i) whpmd (1v) LEED

(D) i) whpgnn (iv) v Gib

(E) eﬁmg Qs fluaiaoma

CCSE2T/2024 . 14

aGoth obsNet.Com



AU

Densification and compaétion are unit operations that are used to
increase the density of recovered materials to reduce transportation

costs and simplify storage. This method is used in

(A) Composting of degradable waste in MSW
(B) Transportation and Transfer station storage of MSW

(C) Construction of Landfill site for MSW

V@f Processing and the Recovery of waste components from MSW

(E} Answer not known

SLTES wPHpID sRpESD eratLg CUrsGarsas Deweasmend @aplughELD,
Gaﬂmua‘&,mg} eregméseugh.b, LA AE-Y NN GumpLr_safl s
2L TEdlmw fshsa oue'vru@u‘n S eudurfsar @b, Qs weap
lefreu(pid e Wwenpuid LwaTLRSS LGS DS ?

(A) MSW@o wégb @.umusmm 2 TIONEESED

(B) MSW@a Gurésearss whnn uflvrpp flewwu Gaslly

(C) MSWsarer flab Ffriyd segden s pomeah

(D) MSWllmig sifle) spisaans QsLiansssd LHD B O Hésd

(E) &flen QgNwueiicrency

15 CCSE2T/2024
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18. Recently in Dubai, cloud seeding technology is used to get artificial rain.

The most commonly uged seeding agents among the following are

(1)
(@)
(3
(4)
(5)

v

(B)
(C)

D .

(E)

Silver iodide
Dry 1ce

Sodium chloride
Lead iodide

Ammonium sulphate

(1), (2) and (3) only
(3), (4) and (5) only
(1), (3) and (5) only
(1), (3) and (4) only
Answer not known

s@reninde, gumnde Guos dlesiy Qsmndap b Qaupms weppaw Gup
LwaT &SI L F). '

14! eray(Feu saTau D A 67 BTENGL. Quimg a1 Ta alengLlL APSEHTEETITE
o LGUIrd&slLRESLLRS emper ? ‘

(1)
(2)
(3)
(4)
(5)

(A)
B
©)
(D)
(E)

Gauarail Guren{
2 @i Ledl

Gemeund HCarreng@
Tl ﬂa@unw;@

2iECGurafiuin soGui

(1), (2) eopw (3) el
(3), (4) wwgud (3) wLEud
(1), (3) s (5) Wb
1), 3) wipd (4) o Hd
sflenL Gsfluiehldana

CCSE2T/2024 16 ~ [3

aGoth obsNet.Com



19. ‘Tamil Nadu Day’ eclebrated every yvear on

20.

(A) June 8 s (B) June 18
(© July 8 V&) July 18 .

- (E) Answer not known

‘g,ﬂlepg)rr@ Hamd’ pa@ainy aim cobd Bbs Hasda Qararm LOEDns)
(A gar8 (B) g9ar 18

©C) gfoa 8 D) gPo» 18
(E) e Ggflusdama '

Which. of the following is correctly paired?
(1) 2014 — Target Olympic Podium Scheme
(2) 2023 — Mera Yuva Bharat (MY Bharat)

{3) 1982 -  Sports Authority of India (SAI)

{(4) 1984 — Dronacharya Award was instituted

{A) Only (3) is correct \4@3{ (1) and (2) are correct -
(C) Only (4) is correct (D) (3) and (4) are correct
(E) Answer not known l

Spssar_oupie sAwrsl QUIGSsiuLL Eman erana?
(1) 2014 — @dlwGs SweL GaosEs £ 1 b

(2) 2023 — earg Geverwr Lmgsnd (MY Lmrs)
(8 1982 — @rdu dersmum @ syenamrub (SATD

(4) 1984 —  mGuuemnéenfwmt aflmgy Byeunu e g
(A)  (3) wonb A : | (B) (1) wppo (2) &f
(€) 4 o &f D) () wppo (4) &

(E) ofar Qafwasidaa

17 ‘ CCSE2T/2024
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21. A current of 0.5 A passes through a lamp for-two minutes, then the
number of electrons pass through the lamp is

(A) 6.25 x 10" electrons
(B} 6.023 x 10* electrons
(C) 1.6 x 107" electrons

V(ﬁ{ 3.8 x 10™ electrons

(E) Answer not known

0.5 A SenSennib gafimd elerde aufuirs Grar@ Bl ks LmUdng
aafld, slarée o MGL Qsarn afindleraransaafler eremeafismns

(A)  6.25 % 10" araudst_ganaer

(B) 6.023 x 10% crad_iemsd:

(€. 1.6 %10 " aoscpramsdr

(D) 3.8 % 10% sesyrasar

(E) aflent. Qgflwelldeanen

92 ISRO prefer to launch Human space flight mission during
75th independence, the (crew member) explorer is named as

(A) Astronaut {B) Cosmonaut.

\}Qf Gagannaut (D) Ganganaut
(F) Answer not known

@ApAw Aertessd Ya] awuszrea 70eug sgpdrgder GuTg gatuih
nafismars  Gorar(  Qedgih  dlarsasfHer  eld@mdesils  wwestd

CupQsretEsd @ip 2.mben’ ereueumy SienpssLBiauTf?
(A)  eyeor Gropm (B) asmeuCGorpm
(C) sramEmL (D) asréwsrrlr_ﬁ‘rrL
() e QAsflueidane

CCSE2T/2024 18 : B
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23. Select the chronological order of mentor — student chain in the

establishment of scieﬁtific methods
' (.-A) Arigtotle — Alexander — Socrates — Plato
(B) Plato — Socrates — Aristotle — Alexander
\}Zf Socrates — Plato — Aristotle — Alexander
(D) 'A]exander — Aristotle — Socrates — Plato
(E) Answer not known
lgpesrar  (pepaeet  Hyeueufe  wuflemiy -  omeraut  skdldlmw
a;'rra;ml‘?lswﬂjuqr Caipllsheseyib ‘
(4) efleriyd - SQessran i - srsned ~ GCar’ GLr
(B) lﬂ@mi'_lﬁn_rr - gr&rae — flevrind ~ SGudsrar i
(C) srémedy — QGear G — wyfleoL T 1nd — SEevdaTaTLT
(D) agmés&rrs&w_r'r ~ sfldvmiged — endfecy — 98ar G

() e Qgfludama
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24,

A force of 1IN acts on a body of mass 10 kg. As a reéult, the body
covera 100 cm in 4 seconds moving along a straight line. Find the
initial velocity of the body.

(A) 6cm/s

v[pr 5 cm/s

(C) 8cmis
(1) 12 em/fs
(E} Answer not known

10 ACGenr stewsmer gm GQuirgpalles 1IN dfas QruduBdpg. Ssen
depareuns ots Gurmar 4 femmgzeildr 100 G5 GrpiGsm ged BsHD
arafldd igen by Cousgengs SearLHliieyd.

(A) 6 Gs.i/efarmy

- (B)Y 5 @s.b/dllarmg

(C) 8 Gs.8/allarmy
(D) 12 Qs Bjsflarmg
() efer Qsflueidena:

25. Qreen light shines on a rose flower. Then, the colour of its petals seems
to be
(A) Green (B) Pink
& Black (D) Red
(Ey Answer not known '
e Grrer BHlpdueila usms gafl geflTatlsdns. 21IGUNg, Sigss @gphaeflen
Hpwereg Camermeis
(A) Usena (B) Qeuafirdeitis
(C) smoy (D) Aautiy
(E) &feot Gsflueciaee
CCSE2T/2024 L B
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26. The Neyveli Lagnite Corporation was established by the
Government of India in the year

& 1056 (B) 1972

(C) 1980 . (D) 1959
(E) Answer not known

CplGeusl éenar. erniuGragsy fpeusmd E@iSwu  Sirere . erliCung

Blmieursr L g7
(A) 1956 (B) 1972
(C) 1980 (1) 1959

() oflen QsMualdsna

27. Arrange the following universities in chronological order based on
the year of establishment ;

(1) Manonmaniam Sundaranar University
-(2) DBharathidasan Uni\'rersity

(3) Thiruvalluvar University

(4) Perivar University

@ @, (@), 1), @) v @, 1, @), @) -
© (), @), @, 3 O O, @), @, @
(E). Ansvn{er not known

Semaumih LIbsEmOSSpERBamET Sea BlneuiulL. suehner sresufiensliug
@Y RIE@DELEED

(1)  wlarmamssiub FESTETT LOSMWEZLED
(2) umrdsmedr LbsBBESDSDH
(8) SmeudrEpaulr LdamasspsD

4) Quiwunrt LdsmeEspsD

(A) @), 4), 1), @) (B) (2), (1), (4), (3)

© @), 2, ®, 3 @) (1), (3), (&), (2

(E) oflan. Qsflwchldrena w0
B ‘ ‘ 21 CCSE2T/2024
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28, Assertion [A] : Backward class commission under chairmanship

of B.P. Mandal was appointed by the President in
exercise of the powers confessed by Article 240,

Reason [R] : The commission has deVeloped eleven indicators

(A)

[A] is true but [R] is false
(B) Both [A] and [R] are true; and [R] is the correct explanation
of [A] '
\)() [A] is false, [R] is true
(I Both [A] and [R] are true; but [R] is not the correct e:;p'lal-nation
of [A]
(E) Answer not known
sahm [A] { sl nbiey 240 pold sensE @prIsliUlL
sfarrgferuy  mamdud | BP. wamide  adrucumy
GEuBEsIul L euElIteTResTarT @RS  GHEaeUTs
BBl .
sryesmid [R] : Eeiamanammuid Garghdw Henoamu Sioralss Lfdarms
@GElan g Saner 2 (heunddluenengl.
(A) [A] atnﬂu.urr@rgj g erme [R] saummens)
B) [A] wpow [R] @raro shuneg; Gogis [R] wywe [Alsdpsrar
sflwimar eflardsin
(C) Al sauprens: [R] sfluimars
(DY [A] wpge [R] @emtih shumerg; e [R] syeng [Alefpsner
sflwnen eferssh ojda ,
(F) eflen Qaflwstlceana
CCSE2T/2024 22 - . B
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29. Match the following :

(a)
{b)
©
(d)

@)
®)
©

V)

(E)

Non-Brahmin Movement
Self-Respect Movement
Shuddhi Movement

Sathya Shodhak Samaj Movement

@ b © @

2 1 4 3J
1 4 2 IS
2 3 4 1
1 2 3 4
Answer not known

- Epssam_apanpl GUhGHE :

(a)
(b}
(e)

()

Qyncanriarlsm Euissih
sunfluras Gussn
aegdl Ewssn

-EguIJ Cengnd sorsy Guides b

@) ® @©@ @

S e <, g
1 4 2 3
A 3 4 I
1 2 3 4
sflanL_ Glgfuielidana

o R

SR

Jdyothi Rao Phule
E.V. Ramasamy

Dayananda Saraswathi
Sri Sahu Maharaj

Capndlyrel L Co
F.Wed. TrogETd
SlTenhis sysived

0f Feh WwarTd

CCSE2T/2024
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80. Arrange the following events in chronological order about EV.R.

(1) He became the President of Justice Party

(2) He joined Congress

(3) He became President of Tamil Nadu Congress Committee
(4) He organised Vaikom Satyagraha

(A) (2, @, @), (1) ® @, M, 3.2

VT (2, @), @), (1) (D) (3, (1), (4), ()

() Answer not known

Qe g, uHf sre elfles g Sdraimd ElSDa s @okgLsEE D

(1) st s s duflsit seneveuir s

(2) wiefarudyalla Geipgini

(3) @it sBpETH snidyso sl iguidan genaaur aperTe
(4) eassd ssHundrsh geusdernt

A (2), @), (3), (1) : (B) (4), (1), 3), @)
(E) &fleo GsMwcildena

“Vaanalum Selvamum Mannarasum Yasn Venden”

31,
[T don’t want rule the sky, wealth and monarch]
Who said these words?
(A) Ramalinga Adigalar (B) Sundarar
() Nammalvar \M Kulasekharar
{(E) Answer not known
“aumenmign b GdaupLd Wk ERITEHD WTETGa GGl & — e LTilieuir.
{A) Enedlns sy sarmt (B) spgr
(C) mowmpeurt D) @aGsart
(F)  aflen Glgilwetledens '
CCSE2T/ 2024 24
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32.

Match correctly the Newspapers associated with its Founders :

(a) Richard Johnston 1. Madras Courier

() G.P. Pillai 2. Madras Mail

() -Charles Lawson and Henry Cornish 3. - Madras Standard
(d) G. Subramania Lver _ 4. The Hindu

@ ® @© @

SiCrRY TV CIE Y
@)1 2. 3. 4
) AL A B |
@) @ B e A

(E) Angwer not known,

Gampmeissaniaesd Asml ity w Qeufssraar sfums Aummssab :

(8) M&si@ spreser ' L wgyred swi
(b) G.P. Gévener 2. gy Qwle

(c) enmiws ereear WHp 3. bgrred sl merl
Qgupeir§l @&mivestcig:

(d) G. soywenflu swr 4. § abllig

@ ® € (@
(&) 3

1

(B) 1 2
© 2 3
™ s 2 ,
(E) eflen G]glﬁu_laﬁld)mm

e - .- T o~
[ L

25 . | CCSE2T/2024
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33. “Number four and two are strengthening your words”
Number ‘two’ refers to what?
(A) Proverb sjﬂ{ 'Thirukkural
(C) Naaladivar ) Aathisoodi
(E) Answer not known

“sreph Grawhie Qeromsend” edp up@omfuls ‘GretR asmens

@M sslemnng 7
(A)  up@wmnd B) Amssmer

(C) pregqunri (D) oys8&a1
(E) eflen Qzfluefdiane -

34. According to Valluvar, which will be considered with ulmost

gratitude?
{A) As Bamboo as Benefit \kﬂr As Millet as Benefit
{C) As Sea as Benefit (D) As Mount as Beneﬁt

(E) Answer not known

cigene ‘Usmanuene penhurssd Garareun’ ser euanareutr @il mdn
(A)  aprdla o6me BeTbl (B) dlenar sismay patnd!

(C) s a& oetay Barh (D) wene seray pei

() &lhlerr Ggfuaideana | W

35. “Kallaarai Kaanungal Kalvi Nalga
Kasadarukku thookkumaram angae undaam”

Who wrote these lines?

\,{ﬁr Bharathidasan (B) Kannathasan
(C) Vannathasan (D)) Vaanithasan
(E) Answer not known :

“SEQIETE ETEIRIGTD Hoell besTd

SELTEGS SISGDID 2hGs o @m mp” -

Blssaflens afisEssa @ flwier wimr?

(A) uorpdlgreen (B) seremgresn
(C)  euenowrgneen (D) auresfigraas
(E) e&flen Gsfiusfidena '

CCSE2T/2024 26 B
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36. The Pakistan resolution was passed by the All India Muslim League

at its Lahore Sesasion on
(&) March 5%, 1933
{(B) August 5™, 1933

\;zf March 23+, 1940 -

(D) March 2254, 1941

() Answer not known

2do @edu adudd F urdeegrd STomeTsms @IsT  LOTBTL i

srulurgg HenCephlug ?

(A) Ly 5, 1933 4
(B) eysdor 5, 1933
(C) wmi& 23, 1940
(D) wis 22, 1941

(B) eferL Qsfwellsrapa

B - 27 CCSF2T/2024
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37. If ABCDE = P1Q2R3S4T5 then which one of the following is equal

to Q2BFV7A.
(A) BQ2VIGPL (B) BQZUGEP1
(C) BQ2VTEP1 W27 BQ2U6EGP1

(E) Answer not known

ABCDE = P1Q2R384T5 aor @Qppara Gdagpaenapysr Q2BFVTA
ETEMLIZ D% FLODTATFE 6Tl ?

(&) BQ2VIGT1 ®) BQ2UGEP1
(C) BRZV7EP1 . (D) BQ2UBGP1
(E) &flem Gsiweidena

38. Gopi sold & laptop at 12% gain. If it had been sold for Rs. 1,200
more, the gain would have been 20%. Find the cost price of the
laptop.

& Ra. 15,000
(B) Rs. 18,000
(C) Rs. 14,000
(D) Rs. 15,500
(E) Answer not known

Card g wessefalou 12% @eiusdbe ogprr. Gogmb ow@s

eh. LL20U-é@ smpsars cAnfimisrd @Garunb 20% =5 Q@pdaseb.
Lgsaaiailler oL 45 domamus sTars.

(A) . 15,000
(B) & 16,000
(C) @ 14,000
(D) @ 15,500

(B) e&flen Gaflwealldeana

CCSE2T/2024 28 B
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39. What is 20% of 30% in 5007

40.

41.

30 | . (B 150

) 75 . (D) 100
(E) Amnswer not known

500 @er 30% wHnfer 20% erhran

(&) 30 ' (B 150
(C) 75 () 100
(E) eflan Opiflucidoama

Find the missing number in the series.
4,18, 7, 100, 180, 294, 448

Ve 48 L ® 50

(@) nate s (D) 60

(E) Answer not known

Qan@&ariulL Cgr_Med(pEg AUl L caarenads srans.
4, 18, ?, 100, 180, 294, 448

(A) 48 (B) 50

€ 58 (D) 60

(E) eflerL Gaflusdvana

The sum of first » natural numbers is 253, then find the value of n.
W 22 | (B) 18

C) 24 It D18

(E) Answer not known

(psd 1 Bud aensalldr mpsa 253 aafla, n-Eer iy snars.

(A) 22 - (B) 18

(C)y 24 | (D) .16

(E) el Quiflwsflcoamen

29 | CCSE2T/2024
[Turn over

aGoth obsNet.Com



42. If fox=cat then xerox may be equal to
(A) terct

(B) ftcroa
(C) tcrot

v(«rﬁ terat

(E) Answer not known
fox=cat aafid: Xerox aeiug ayman @beEn?
(A) terct |
(B) teroa
(C) tcrot
(D) terat |
(B) de GpMusioma

43. Three dice thrown at once. Find the probablhty of getting same
numbers in all dice

1 | B 1
@ 2 ®) e

1 1

36 ™ 3

(E) Answer not known

(et LSHLSET @aiprs 2l lu@bGung mensg nsamLwdgb @Gy
araim Senl 58 Ba\pgsse oremar?

.1
Ay = =,
. ) 6 ( ) 216
© L ) %
36 2 M 2
(E) ellen Quflusfdens
CCSE2TI2024 30 - B

aGoth obsNet.Com



44.

45,

The curved surface area of a right circular cylinder of height 7 cm is
66 ecm?2. Find the diameter of the cylinder.

(A) 2cm

{(B) 4cm

(E) Answer not known

. 66 £.Qs.8 ausnamLFO LW (5 CBlaul L a@eﬁ:muﬁlm zwgh 7 GF.18 ereflé,

2 manarullelr el L b STewTs.
(A) 2Qs.5

(B) 4 Qe

(C) 6Gs.8

(D) 3 CGe.d

(E) aflenL Qaflwelldena

The value of a motor cycle 2 years ago was Rs. 80,000. It depreciates
at the rate of 4% p.a. in first yvear. In second year it increases b:,r
4% p.a. Find the present value.

(A) Rs. 76,800
(B) Rs. 80,000
(C) Rs. 80,128

& Rs. 79,872

(E) Answer not known

@ s5&7 aunsand qanlar dloe Eren( anfaesses weér @ 80,000.

WPE&H @ <waTihe 4% Gosdns. @rarLrd garh 4% sfsfssng
ereflet isar sHGLmensW eilame eramam?

(A) . 76,800
(B) . 80,000
(C) . 80,128

(D) m. 79,872
(E) e Gsflweidena

31 ' CCSE2T/2024
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46. There are four cell phones in a house. At 5 a.m, all the four phones
will ring together. Thereafter, the first one rings every 20 mins, the
second one rings every 30 ming, the third one rings every 40 mins
.and the fourth one rings every 50 mins. At what time, will the four
cell phones ring together again?

(A 1P.M.
B) 1AM
3 P.M.
(D) 3AM.
{I) Answer not known

@y lged preng swobuilsd edaa. snme 5 wallée,  edan
SeGUsEnD qamnrs eld@b. G wed sweCudlursng peutlerm
20 fhil diseligid, @rarirag Sieatufl galdams 30 fhilhsaigib,
ppamreug oeonduf gatans 40 Hksalgd, prasrag oeodusd
gesamy 60 B msafigid godsflapar aala, oma BarGn eriiGung
CPEIT[DITE Epeli&ELD 2 ,

(A) Qiused 1 inssfl
(B) apiuse 1 wa
(C) Gpusd 3 werd
(D) ppuse 3 wenf
(E) &feni. Azflueclaa

47. TTHCF of x® - 83 and x®— k%y? is x + ky then value of %
(A) 2or -2 B) +2

wel -2 @) 0

(E} Answer not known
x® —8y% wohpd x? —E%y? e BuGum Ounsy assd x+ky aafle ker

g Ly
(A) 2 oz —2 B) +2
() -2 Mo

(E) &flant Qafuwiehichapay

CCSE2T/2024 32 B
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48.

49.

80.

In how many months the principal of Rs. 2,000 will double at 8% per
annum 1n siumple interest?

{A) 144 months @{150 months
(C) 120 months (D) 140 months
(E) Answer not known

sefl eulig epeod e g5 Z,000, 8% eulgeissld @rinlurs ereucuersy
OTSID Dy ? ‘

{4A) 144 wrgmas | (B) 150 wramsEar

(C) 120 wrsrisdr (D) 140 wrzrisdr
(B) e Qzflweddeve

The L.C.M. of 3, 2.7 and 0.09 is

A) 2.7 . " (B) 0.27
(€) 0.027 &7 27
() Answer not known

3, 2.7 wpgib 0.09 ¢ 5.8.10

Ay 2.7 B) 0.27°

{C) 0.027 v @y

(B) &fer Qzfweidame

Which one of the following lies between Y7 and ¥57?

& V2 | & 3
© Vi - | @) 5

(E) Answer not known | .
Essnarusibila erzl 7 LoH M LD 5 @eup b BeoLuid siemwowh?
A 2 ®) V3

© V4 o 5

(E) slenL GQgflwsldeae

33 CCSE2T/2024
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51. Arrange the following Books of Jawaharlal Nehru in Chronological

order considering their year of publication.
(1) An Autobicgraphy : Toward Freedom
(2) Glimpses of world History

(3) The Discovery of India

{4) Before Freedom

@A) (@), (3), @), (1)
Vi (@, (1), 3), (@
© ©@,0), @ QO
@) (@), @), @), Q)

(E) Answer not known

mevgniard  Crpefler  mrisener  oensn  Wauefluth Nl syamg e
Sigrueniled smweuilesiLhbgs :

(1) g swsilens : ssitdnd Cundd
(2) ews ey ef LTTems

(3) @pSunalen sy

(1). sgpdligdpe apar

(A (4, 3,2, @

(B) (2), 1), 3), @D

© @), 3), @, D

D) (2), ), 3), (L)
(E)  &flem Gsfluichiciana

CCSE2Tr2024 & - [3
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52. Who among the following had started ‘Mitra Mela’ Association?
(A) Shyamji Krishna Varma
\,(3)' Vinayak Damodar Savarkar
(C) Lala Hardayal
(D} .Sohan Singh Bakna
(E) Answer not known

Gareumauarauphicd ‘WBigrm Coerr srussans Qgrtdweud wmie
(A)  elwimbgl fqpeipem suifon

(B) efprws srlwrgi eveundasi

(C)‘ QTEDIT QDT EUITET

(D) Coraper A LisarT

(B) ofe QzRuicfidare

53. Who founded the All-India Muslim League in 19067
(A) Muhammad Ali Jinnah
.\ Khwaja Salimulleh
{C) Sir Aga Khan
(D) AR Faizul Haq

(E) Answer not known

‘émﬂrﬁﬁl‘[ﬁﬁm apaualin & &l flaows 1906-@ AnieSwg wmrire
(A) sy 6 eenr

(B) saurgr slgpden

(C) & aps -.srr&

D) &.Cs. avsd aps

(E) oflen_ Cgfucidams

B | | 3B | CCSE2T/2024
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4. Assgertion [A] : Swami Vivekananhda founded Ramakrishna

Mission to popularise the teachings of his master.

Reason [R] : Ramakrishna Mission was a monastic order and

devoted itself to the spiritual development of Man.

(A) |A] is true, [R] is false
VQBY Both ‘[A] and [R] are true and [R] is the correct explanation

of [A]

(C) [A] is lalse, [R] is true

(D) Both [A] and [R] are irue, but [R] is not the correct explanation
of [A]

(E) Answer not known

ampyp [A] ¢ seamf  aMCasmambst gaig  @ellar  Gursaersenet

 ugou @rmodgresee Wagenar HnieSerT.
ampans [R] 1 @umodlmepamrt floger g sineip awl wHpibd =ig)
‘ inafpaflcr gpembs cuariéfsg garwen iiLslE55!
(A) [A] afl, [R] saug

(B)
(C)
)
(E)

[A] wipo [B] &, [R] [Aluiayenwi sfluimar aflarésin
[A] gag. [R] #f
[A] wigib [R] s eperma [R], [Alb@aieiw sflwuner elerssnse

alleo Qg Ruwelcdana

CCSE2T/2024 36 B .
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55. Arrange the following studies of Poverty in India in chronological

order :

1)

2)
(8)
(4)
(&)
o
()]
D)
(E)

& bglwimafh

Ojha’s | study

Bardhan’s study

Minhas study

Dandekar and Rath study

2). (4), (1), (3)
(1), (@), 8), @
8), (2), (1), @)
(2), (1), (3), (&)

Answer not known

agenns  ubihu

e (Hid

P(PESDOEEQLD

(1)

@
@)
&
@
®)
©
D)
()

PET 2pliay

LIS Tel gpley

\Bemam Ta aiiay

FTELET LHDHID T ey
@, @, (1), @

1), (4, 3, @

(3), (2), (1), (@)

@, (1), (3, @)
eilanL. Qgfwellcoana:

37
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56. Inorder to double the Farmer’s income through digital technologies,

acﬁnn should be taken from

(i) Technology generation and dissemination, policies and reforms

and development initiatives
(1) Policies and Reforms
(ii)} Reforms and Development
(iv) Artificia] Intelligence |
: VA{ (i) only (B) () and (iv)
(©) (i) and (iii) D) Gvyonly
(E) Answer not known

lo g3l L b anl@m@Lurﬁmﬁ apaib efleusmbsaier aimoTarsens G i LTSS
TH&EE Gaiamaili Bl aulg Sens

() Qamfdnu s pardsb wLHYD  ures, WHErdTE@ssT  ODHEID
FrémEgnser Iohmih aueTtrds] oakdsdr

(1) Qandramss@sh, Fifihdshe @b

(1ii) ﬁﬂg,]@gg,rﬁﬁ@m, e Ganppepid

(iv) Qswupes maTarblalb

&) 6 oo B () wppos (v
(C) (i) whgod (1ii) | (D) (iv) 1o Gub

(F) eflanL. Gxfliucidema

CCSE2T/2024 38 | B
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57. Match the following :

(a) Tax Revenue 1. Interest receipts.
(b) Non-tax revenue 2. Net market borrowings

(¢) Capital receipts '8,  Taxes on Income and Expenditure

2
(B) 1 2 3
(0) T anmt
D 3 2 1

‘(E) Answer not known

Meraupaiarahen AUTESSS
(a) euf eugreumis 1. ey rés

(b) eur dens sumeuri 2. Har shang sLdrseT

(¢} apaser Tég e 3.  sugwrar wppib Heaay Bsrer cufisdr
(@) ® (

(A) 3 1 2

® 1 2 3

(@20 1 3

M) -3 2 !

(E) il Qs waidana

B 39 - CCSE2T/2024
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58. Match the following :

Enacted Year Name of the Act
() 1963 1. Prevention of Insults to National
Y | Honour Act
(b) 1991 2. Representation of People Act
ey 1971 3. Government of Union Territory Act
(d) 1951 4. Government of National Capital
| Territory of Delhi Act

@ ® © @

Vs 4 1

B 1 2 3
C) 4 3 .+ 2
(D) 2 1 4
(E) Answer not known

0 = = N

& hssam_oubenps du IT@;&:}QJ& P

@wbprUlL et F 1 gdlar Gluwnr _
{(a) 1963 1. mmiigdr Qummenn sawdédasuu@eumss
S Qb b sL1b
(b) 1991 2. ‘wésdr GrdHlSsHeE &1
(¢ 1971 3. @pdu et uEds s
(d) 1951 4. Gpflws pwapst QLdd gemdlul) umdls
" FLLb : :

@& ® @ @

A s 4 1 2
(B) 1 2 3 4
C) 4 3 2 1
™2 1. 4 3
(K) &flsn. Qsfluicidaanam
CCSE2T/2024 40

aGoth obsNet.Com



59. Assertion [A] : Governor in the Indian Federal System is
~assigned dual role, as the constitutional Head of
the State as well as the representative of the

Centre.

Reason [R] : The Office of Governor is against the Federal
: structure.
: \,ﬁr [A] is true, but [R] is false

(B) Both [A] and [R] are true, and [R] is the correct explanation
of [A]

(C) [A] 1s false, [R] is true s

(D) Both [A] and [R] are true, but [R] is not the correct explanation
of [A]

(E) Answer not known

by [A] 0 @FFu emlinlAle, ayempr, @rflar se@at nhyL
os8w s pflar GrSEd ererann @@ fdgwrar Lallsamar
Gl Sl mmi.

smeh [R] 1 wyesnr aenn flpeaGo salm fas adomas;

&) ampor [A] o). gamme ampans [R] s

(B) apm [A]l wppnd srparn [R] &R, Gogub sepp [Alssrer  eflurs
cllerssions srrasd (1] e dreng |

(©C) mom [A] seup. smyeni: [B] «

(D) esmpm [A] m@m smjeerd [R] @Qrarin oM, wuemé spp [Alssrer
gflumen allangainrs sryamd [R] Bodoe

(B) ofene Qgfluefldana

B 41 CCSE21/2024
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60. The framers of the Constitution incorporated the duties of the State
in the constitution in the form of the
(A) Fundamental Duties
(B) Fundamental Rights
\M Directive principle of state policy -
() Righfs of Citizen

(E) Answer not known

a{ﬁﬁummmumu &@mrré;lﬁu_lmr'ra;m rflar s_epwsarts .o fHweeans G
@5 angeigho Coigpen

(A}  syglenl HLeninsar

(B) @guuen = flanwser

(C) wrder anflam Gib QApH apeanpaer

(D) @ wisEnssrar eiflamosd

(E) &fenL Qsiluiehdana

CCSE21/2024 12 | B
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61. Which of the following badies doesn’t/don’t find mention in the
Constitution? '

(1) National Development Council
(2) NITI Aavog '
(8) Election Commission

{4) Finance Commission

& (1) and (2) only - (B) (2) only
(C) (1) and (4)only - (D) (1), (2) and (3) only
(F) Answer not known :
Spsan.  mi@olyseid  ewel/umasdr  SrFuaenlys  sLLSHd
srenm L _efldenso ? '
(1) CGsdw awrisfs sy
(2) 58 wBurs
(3) Csiged %ED‘JWU‘_ILB
(4) [_5151 <2},GOGRTL LD

(A) (1) wpmo (2) wr G - (B) (2) b

) Q) woms (4) v @b D) (1); (2) vpyb (3) I FGib
(E)  eflen QgNuaidama

62. Who among the following is the only woman historian to have
written a historical account of Mughal period?

\,(»Kr Gulbadan Begum , (B) Zeenat-un-Nisa Begum
: (C) Jahanara Begum "~ (D) Zeb-un-Nissa Beguni

- (E) Answer not known |
Yereupuaisener (psomuiseier srogfe pLps ererdn Hepeseer
GF@QUJ SGr Guay eureomhm < fMuir wnr? .
(A) @auss Gusbd (B) sQemg-een-Hlan Gush
(C) mearmgr Guan (D) Qgu-zar Fler Goisib
(E) e Qefueldame
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62, Which one of the following is false with regard to the reign of
Ahmad Shah?

(A) He transferred his capital from Gulbarga to Bidar (1425)

{B) The rivalary between the Dakshin party and foreign party
became accentuated during his period

(C) He conquered Warrangal in 1424-25
V@( He annexed the kingdom of Gujarat to his Empire

(E) Answer not known
oising) agrellar <l $Gp @0 A aup i g Selmmang)
(A)  gwmwpser @durssmaddaps S mbEE wopplermt (1 4QSj

(B) miar siosdd Lafar  mupsihed  Caalpri@s  GQeasED
@ent wileTar Gorgd LBl Susiul( e hsdl '

(€) 1424-2510 wyemgd oTTRIED adip §ib @EInpruTLg
(D) wnrrs 2irmes sda Gurrs ér Blamansgd dererm
() e&filen Gaflusieome |

64. Who called India ag “Ethnological Museum”?

(A) R.C. Majumdar (B) R.K. Mookerji
(C) H.Risgley \P7 V.A. Smith

(F) Answer not known
@ pFwn g ‘oaflg Gagden @@@5nL§lua§m’ 66T <R IDESHEUT Wi ?

(A) it 8. agebET (B) .,.Cs. apsrgd
(C) Gams. fanedl (D) .. auidls
() oL Osfueildeae
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66.

66,

Which of the following Harappan sites are not in India?

\M Mohenjodara and Harapps - (B) Lothal and Kalibangan

(C) Bhanwali and Ropar (D) Surkotada and Dholavira
() Answer not known |

EpsssTcudQdr B anriiT prefes gerasdr spOumps @hdumedd
Ecoena 7 :
(A)  Gomsgresr@rr oppb apyuur  (B) Gorssd bpyb sralukss

(C)  veraurel whmb apum (1) srlarmir whpnd Seremeiym
(B) sflenl Gglwebidsenay |

Around 25 districts in the east coast; 10 in Tamil Nadu,
7 in Andhra Pradesh, 6 in Odisha and 2 in West Bengal - are
vulnerable to cyclonic storms. Among these, which area accounts to
70 percent of the cyclones of severes categories?

(A) Chilika region
(B) Nellore region
(C) Machllipatinam

\)Ef)’ Sﬁndarbjans Area /

(F) Answer not known

Bupsss sLpsmnlle somr 25 ran L iser: sllbEmiger 10, sypSrredd 7,

guerailes 6, nmph Guibe amssfa 2 - @orae  Ludsartd
LrSEslULSsmemel. @aitNd, @il Ledurets sHELLTET s
Hudbsellas 70 ssals Lrd el <enwyibh '

(A) fdar ugd .

(B) Opagrr usd

(C)  wsfefluiuigemnd

(D) spsrereiugs

(B} e Gsfusfieome
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67. A tribe of India is

(1) Connecied with Eklavya in the epic Mahabharatha
(2) Tives in Aravallis, Vindhyan and Satpura Ranges ‘
(3) Hutment on a small Hillock

(4) Maize is their staple food

Which tribal group of the following suits for the above conditions?

(Ay (Gonds
(B) Todas
W& Bhils
(D} Santhals
(E) Ansﬁrer not known

Epsarggb smpnsesEGiiu @idureilen g Lipraggigullemt gl ?
(1)  wsrunmg @Fsre ssmiLTESTD GBmees) G Glgrru'rqem_mau TEGT
(2)  yreid, i upmbh asUTT weses Gem fmefd arbLaITSaT
() Ay sapeddd @hms Simpsae
(4) wasre CaraiGin dysrar 2 avey
(A) CGararsdr
(B) Gsmradr
(C)  Qévsiv
(D) snpsdsdr
(E) -sflem  Qgilweeeana

CCOSE2T/2024 el
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68. The northern upland of the Karnataka Plateau is known as

v@fr Malnad .

(B) Betwa

(C) Dhasan -

(D) Maidan

(E) - Answer not known

SIS Sogfluller  sulde  Hleonopoy aTelt
SienpésliuBEng.

(A) LOMeb BTl
(B) Quiar
(C)  azmeen

(D)  enwimer
(E) sfe Ggmweldensy

69. Which Ministry launched the Dlgltal Intelligence Platform (DIP)
and ‘Chakshu’ fac111ty on Sanchar Saathi portal?

(A) Ministry of Power
(B) Ministry of Civil Aviation
\,(Zf Ministry of Communications and Informatlon
(D) Ministry of Earth Sciences
(E) - Answer not known

Grpg, OIALEFHED FEHETT &rrg)‘é] Gumir_LeSle) s meaveerhey gmm Le o
‘ensag wedlan QET midug

{A) Ser smieFssh

B) | fefler afinmer Cunb@eurss SimipEssit
€Y ssaa Clgrru'n_; SanndESLD

D) yell oFefud smwissh

(E) &9 QgMuieiaana
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70.  Match the following -

Part 1
(a) India
(b) Japan
(c) TUmted States
(d) China

Codes :

(@) b (@© )
(A) 5 2 3
(B) 2 /| 4
2 4 |
(M 5 3 1
(E) Anawer not known

bo o T o

et aurpensmelhanm Eummbgs .

Lmd |
@ @spun
(h) soumer
(e) slwilban
(d) feanm

@Dluise :
@y ® © @
(A) b 2 3
{B) 2 1 4
(C) 2 4 1
(In 5 3 1
(E) oflen Gpflueleana

(SR R ]

CCSE2T/2024

Part I1

Bald Eagle
Dolphin

Peony

Cherry blossom
Royal Bengal Tiger

oL g P2, M E

Ll 11
SU{RGEE HLHG
L rébt g
G mas

Glami weolidd

o B B

& Gt 1L
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71.

72.

Who had been given the “Shilp Awards” by the Ministry of Textiles
and Industry? :

(4)
(B)

©

(E)

gelail  wpmih  Genfosemn  wimnsss

to legendary drama artists

to rural women entrepreneurs
ta legendary farmers

to legendary crafts person

Answer not known

eUDIGLILIG S Mg 2

(A)  yepQubp sriss BENGUIEHIT S 5
B) dymsoyp Quar CgmpldaparanGaurt
) Lsp@ump deuamdssr

(D) " ysp@upn messtiemars FEHEVEHTFHET
(B dleL Qsfluciaome |

S&ne & eSl(REIFaT LI(RE (S,

Some parts of the moon never see sunlight. Becausc the axis of the

moon is to the direction of the Sun’s light.
M Perpendicular (B) Parallel
(C) Same (DY Opposite

() Answer not known

Bodfler fa Lgfesr auGungh @lﬂu_r gaflllaner’ LafssGs196ame. e
satprd  flaefer ofs @fu  gefluler Slenss,

BlELLgme.

(A) Qetigisrs (B) @eearmurs
(C) swwrs (D) ardlrng
(B)  sfso_ Qafueiaoma
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73. Match the following :

(a) CO2 1.
(by NO:x o B
(¢} Lead (Pb) 3

(d) Hydrocarbons (1) 4.

@ O @ @
2

\/Af 3 1 4
By 2 i 4 3
¢ 3 2 I 4
m 2 4 3 il

(F) Answer not known

Qeraigpeuenapmpl HUMBhESS :

(a) COz 1.
(b) NO« :
(c) smifunb (Ph) - 2

(d) o Grramiias (HC) 4,

@ GO @ @
A) 2 3 1
By 2 i 4
Gy 3 2 i
(D) 2 4 3
(E) dlen Gsflueiicena

o W0

CCSE2T/2024

Ground water pollutioﬁ and
particulate in air

Global warming

Acid rain

An ingredient for the formation of
photochemical smog

Pasgsiq B wrsUrh DO &rhhled
2_§ITem SIFEH(IE LDI&

e Geuliunuinmgel

<iila hen

gofl Geuflullwer 1 |enaLe

& (ha TEheusDETar G apatClLnghar
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74, Assertion [A] : 2-4-Dis used as herbicides.

Reason [R] : 2-4-Dinduces production of fruits
e 1 fertilization.
(A) [A] istrue, [R] is the correct explanation
(B)  Both [A] and [R] are true
(C) [A] is false, [R] is true
[A] is true, [R] is not the correct explanation .
(F) Answer not known '
sy [A] 1 2-4-D sevmatsrédduns GruauBSos
smpard [R] 1 2-4 - D ameyprod saf o peurs ETrEmOrSng).
(A) [A] efwrang), [R] sAwres sfersaws
(B) [A] wpgub [R] surarg,
Q) [A] sauprang, [R] FhlLTans)
D) [A] sfwirarg [R] sfiwra cQarssfidma
(B)

dllan_ Asflweddamen

without

75. Objectivity, Predictability and Generality are the features of -

\A(Scientific method -

(B)
G
D)
(E)

Scientific enquiry
Scientific attitude
Scientific experiment
Answer not known

LDeUWLLIL L serants, ‘@eﬁr&mﬂ[mggs&wmm whoid  Gurgenwsgarants
S eney Werr ybshsarts sowedpg. -

(A)
(B)
©
D)
(E)

< fleflud (enp

< Hewish e myenesr
il warilrsranio
sleiluids LfGsrsenar
ellen Ggilweaddanam
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76. Identify the correct expansion/meaning of “CEDA

(A) Convention of the expansion and development of Adclescent
Women i
(B) Convention of the execution of different ideas for women
Convention on the elimination of all forms of discrimination
against women
(D) Congregation of the eradication of all forms of diserimination
against women
(E) Answer not known
19 gl meusren & “CEDAW” sam  alflaunsssdanQuirpensr  &flunss
- Carplshasseh. '
(A)  suemr@emb UseuliGuayFetier apenGeanhmp oo eilfleurds LmbiE
(B) Queans@pberar LOGAIN  SHSSIHAITESRSmET DeeL_(PepDUILI(RSSIE

e

(C) Guarsense oflgne @iy o MG g Bageigharer
LB (b

(D) Guersessg cdmmer sasg s urEur sy IInUSDHE 16
EamLl

() &P Usfiuciidens

77.  Which one of the following is a one- stop source for all the geospatial
data for the state of Tamil Nadu?
(A) Tamil Nadu Geographical Positioning System (TNGPS)
Tamil Nadu Geographical Information System (TNGIS)
" () Tamil Nadu Global Information System (TNGIS)
(D) Tamil Nadu Global Positioning System (INGPS)
(I) Answer not known
sllpenE orEagdpanen Haeatss) Leiuld sre|F@EnsEh 196 ime sl
aal ST GLgdd o Frang)?
(A) sApmrH Lellue Haaiubibed ey
(R)  pEppTH Ueflufe gaaud ian oLy
(C) s 8pprH s osamsiiLl 55a0 BjanonL
M) solppr( cesarraiiu Heaalibhssd Semooy
(F) dflen Gsmusidme
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78. The United Nation has declared 1987 as
(A) International year of Girl Children
\}B‘J’ International year of Shelter for the homeless -
(C) International yvear of Women
(D) International year of Cleanliness
(E) Answer not known

1987 - ;g — — .%a; gEEu pri® sou adefsss.

(A} sraCzs Qualr GBS 6T L

(B) sieuBgs ewpallib Géatseais@sde sonal b EULDTEIEHLD ey, &80T ()
(0)  areuGge et samar T

(D) #wlss sissdiane aen()
(E) &0 Wz flwelldeane

79, In which year Flipkart signed a memorsndum of understanding
with the Tamil Nadu MSME Trade and Investment Promotion
Bureau?

T 2021
(B) 2018
(C) 2001
D) 2011
(E) Answer not known
ahE el defismi, sfpsrh MSME afsssb ohpb @5Q§L®
el Lillpglenia) Lailussg e gUUbSsAD wsGLsH g7
(A) 2021
(B) 2018
(C) 2001
() 2011
(BE)  &flan Csflusidmana
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20. Match correctly the following foundations with their corresponding

names .

(a) South Tndian Liberal Federation A, Singaravelar

(b) Kudiyarasu Journal C. Rajagopalachari

1
2

(¢) Emergence of Labour Oragnisations 3. Thanthai Periyar
4

(d) Swatantra Party (. Natesan

@ G @© (d
(A) 4 2 1
(B) 4 1 2
w4 31
(D) 3 4 1
(EY Answer not known

b D W OO

Qemau@ld  Slgbperksmer o5 CeriyeLrw CuursGerry  sHlwns

HunpEsies ©
(a) Qgerefipdu pa o fenF Fbisb 1. A, Srusmrlaiait
(B wewurs Bsw 2. C. mgGamuramer
(€) QamPlenert Saioiusallsn GErhmib 3. spes Guflwnd
{(d) sopdr s & 4. C. pCLser
@ ® @©@
(A) 4 2 1 3
(B) 4 il 2 3
(C) 4 3 1 2
3 4 1 2.
(F) ellan_ Gsfluisieana
CCSE2T/2024 2 B

aGoth obsNet.Com



81. According to 2011 census, the density of population in Tamil Nadu .

is

(&)

450 per square km

\,@Bf 555 per square km -

(C)

650 per square km

(DY 750 per square km
(E) Answer not known

2011 wsser Qsnrans assmas@as@uﬁlmuq_ ZOIPET T Indsedr CEsreans o/ réd

(&)
{B)
H{O
(D)
(&)

450 g sgir .08
535 qur sgir 4.8
600 s gy 4.0
750 @ agi7 &..8
ailen_ Clsfluiafeana

82. Tamil women who were competent in literature, music and drama
were called as

v@‘{f Mudukkuravai

(B)
(©)

Mudinmagalir

Viralivar

(D) Kanigaiyar

(E) Answer not known

gasslub, @as BI_sb %a‘%llueumﬁlm Gairédl Giuﬁ)m g@@u Glusrsaer

(A)
(B)
(©)
(D)
()

STGHT[T amga;asuuLLmﬁ'
(PEEGH D6
(Lplg EhrLoger T
aAledl i
SeRflanas i

sllan Ggiflueiiama
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83. Choose the right matches among the following.

(1) Thiru.V.Ka —  Desabakthan
(2) Subramania Bharathivar — Hindu
(3) Annie Besant — New India
(4) Kasthuri Ranga Ayyangar — India

\ﬁ (1) and (3) only (B) (1) and (4) only
(€) (1), (3) and (4) only (D) (2), {3) and {4) only
(E) Answer not known
Weneugpd aassE Beal Gu sflurer durmisusamar Corey delmian. -
(1)  Hgp.efl.= —  Gooudsgen
(2)  sogoeaflu uirgdlumt — @,['5@.]-
(3) . oemefC sam - Ay @sdur
(4) sevgrf pls aniwgsTr 0 = @iHur
(A) (1) wppd (3) wifid (BY (1) wipgnd (4) o @id
(C) (1), (3) womb (4) e b (D). (2), (3) pmin (4) 1U_Gib
() &fen. Csflwiaflcdaney ‘

84, original name was Kumarasamy Nayak.
(A) Katiabomman (B) Oomaithurai
(C) Dheeran Chinnamalail (M) Marudhu Pandiyar
(E) Answer not known
& @ wpll L @onramll Frubei.

(A s AU nibwer DAUEHLDHHI6D]
(C)  Sren Aeweninane (D) omg uremquIf
() efes Qsfwaildmen
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85.

86.

According to Valluvar, what is the weapon to destroy the arrogance
of foes? |

(A) Heroism (B) Force

(© Fort \ & Wealth

(E) Answer not known

‘Levsauflen  sfeusens LEGD <pusd ey QETEEAT  aSmeTs
GO R Emmt 7 :

(A &fqb ' (B) ven

() myper | ' (I} Qaeveuid

(L) e Ozfludiama

i

that man desire 1t 1s plain whom others wealth.
Delights not, feeling envious pain”,
Whom does Thiruvalluvar refers to in the given above Thirukkural?

\jg‘ff Nor wealth nor virtue does that man

(B) Man of envious heart
{C) Envy they hajre within
(D) Goodman

(E) Answer not known

[

Clperrash

Cuanrgl Si(pEEnIT Limer .

GTENN LITEn ‘é,lq_r,ajeh'@suﬁ SO AR Em e
(A} = DE By EH1D GauairLmgmeir

B) el Apgesgran

(C) &@i&n@ 2 &L WIFET

(D) Queuefwrer
(E) eller Quiflusfldene
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87. What kind of Dhoti worn by maternal uncle while singing lullaby
yvou identified?

(A) Bilk Dhoti

(B} Sandal Dhoti
Thuvai Dhoti

(D) Mallu Dhoti

(E) Answer not known

STOTEL0 UrLsied Fmiunminer Hi'q aummh Canl g euans ergl?
(A) Ul Geulig

B) spser Gary.

(C) geweu Gaulq

D) wog Gaulyg

() diwr Opflusdidome

88. “Utruzhi uthaviyum uruporul koduthum” —
What field is eulogised in this Purananootru Paadal?
V& Education (Kalvi)
(B} Charity (Eegai)
(C) Integrity (Nermai)
(D) Truth (Unmai)
(E) Answer not known

“ Hd e gellyb o nGurmeT Aarfisgih” —

Gupergnid ypErENHHITILIM & Biq agar Aplau adlypdgddg ?
(A) e |

(B) mans

(C). CGmfanin

(D) e awmems

(E) eflene Gsfluiafisma
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89. Choose the Sangam period in which the poet Nakkirar was

90.

considered the most predominant poet :

(&) First Sangam

(b} Third Sangam

{c) Second Sangam

(d) Fourth Sangam i

(&) (@) only V& (b) only

(€ (¢)and (d) only (D) (b} and {¢) only
(E) Answer not kni:mm

&Gup Ga;rr@&s;uuL@mm Errmgg_ﬂd) .ma;&l]'w s pédlu Leaunns ahgE Frhis
sregmsd Ceipseurnas srmsULESDMT?

(2) s smsd
(b)  epémpmbd s

(€) @uarLmb shusb
(d) preérembd shsb ‘
(4) (a) oipw B B wlpn

(C) (c) wognd (d) wr.Gub M) (&) weopud () wiGud
(E) cfer Gpfwelldena

One side of a rectangular field is 15 m and one of its diagonals is
17 m. Find the area of the field.

(A) 80 m? (B) 100 m?
(0) N 11 i A AP @7 120 m?
(E) Answer not known

@ desieus engey Hlegdlen @@ Lés oerey 16 & whpub agw (1
epaaailiib 17 18 erafld, fosddar uriLearma srans.

(A) 80 82 (B) 100 52
(C) 110 &2 oy | | D) 120 .82
(E) ofianL Qs wehldena
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91.

92

(©)
vl 11

If 1, 2 2, 3, 3, 3 are the faces of a die, 2 such dice are rolled. In how
many cases 2% die face is bigger than 1 die.

A 3
B) 5
8

() Answer not known

1, 2, 2, 3, 3, 3 (pswndlizdr Qaram @ usaL sdr = (BULOLERD Wumipg,
(wpaeé ussmLulsy @pe wdlmu el EGrameTaug UsamLuler aps EL
.@@Emrra; @@é;a; UMIILIL|FET aTdhHanear ?

(A) 3
® 5
(€) 8

Dy 11
(E) oo Qgflweiidane

If Rs. 10,890 is divided among A and B gmups in the ratio 4:5 then
the group B's share is

(A) Rs.1,210
(B) Rs. 4,840

€ Re. 6,050

(D} Rs. 5,445

(E) Answer not known

m. 10,890 g A popd B adm S5 cuwssensg 4:5 aan dlfgsde
Afiggs arhdsra B @upeilhe dean d@n Qgnime crener?

(A m. 1,210

(B) m. 4,840

(C) m. 6,050

M) . 5,445 | w

() allanr Ggflusiidea
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93.

54.

cat=abc

e |
dog=def
Then whlch one of the following may be equal to ta::
co

(a) &2 ® &2

aec ace

chn chn
© = v =

ace
(F) Answer not known

dec

cat=abc s . tan i Qe opié a3
| GTenT (bpgmed ——  eramLg QU(BsUSTeL e  ergemm
dog=def cot
EhlEsru b7 ‘
cha cha
A — (B) —
aeg ace
chn ¢ch
e Dy ==
ace ho7 gec

(B} &fen_ Csflusiamenc

E&EGBDM4NKH2ACZSV3F1JLOQ5PR
What will come in place of question mark in the following sequence?
GDR BMP D45 ?

WO~ MNQ B) 4NQ
(C) MEKO ' M M4Q
(E) Answer not known
E&GBDM4NKH2ACZSV3F1JLDQ5PR
slam GOILRE@u udlors aumn Qzm i er)?
GDR BMP D45 ?
(A) MNQ (B) 4NQ
(C) MKO (D) M4Q
(E) Osn_ Ggflweldama
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95. A can finish a job 1n 6 days whereas B finishes it in 12 days. The

time taken to complete the job working together is ———7
(A) 6 days Vgaf 4 days

(C) 8days (D) 3 days

(E) Answer not known

A arerpat g Cormaamu 6 pilseiigib B sremueutr 12 prisaflgid qpis G
aafld, Gpaumb pepres CGsihs <is Camaeow Fisoa BT sald

apipium? .
{A) 6 prisdr (B) 4 mm-sdr
(C) 8 pm mdr (D) 3 mriasd

(E) eflen Qzflwehicransy

96. A swimming bath is 24 m long and 15 m broad. When a number of
- men dive into the bath, the height of water rises by 1 cm. If the

average volume of water displaced by each man be 0.1 m® how
many men are there in the bath? g

(A} 32 W& 36

(C) 42 (D) 46

{(E) Answer not known

G Bead gend 24 Bt ferapin 15 St oiseqpd CaramLg. @ilvd
aramelsmadone SekisdT Sihss GaHe Glagn Gurgl, Fifler 2 wimb

@ Qr.ab e widpg. e e srrefiuns GaalGuppit Efar sarey 0.1 18°
sratfli> g Boee Gerddled eThpene LeTaar o drarart? '

(A) 32 (B) 36
€ 42 | | D) 46
(E) eier Gsfucaema
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97. Find the simple interest on Rs. 68;000, at 1‘6%% per annum for

9 months.
(A) Rs. 7,500 \ﬂr Rs. 8,500
(C) Rs. 8,500 (D) Rs. 5,500

(E) Answer not known

<& ml'_lxar el Sy 16%% arafied e 68,00055 qetus Lnrlrg,nmas@é;@ St
euliq. el ? ;

A) @ 7,500 B) e5. 8,500

(C) em. 6,500 D) em. 5,500
E) oL Gsfueddmn

98. IfA:B:C=2:3:4 then is egual ta

:’:hIC‘.)

B
A
(A) 8:9:10 B) 8:16:24

\yzfs:g:m D) 24:9:8

(E) Answer not known

bdlhs

A B C
A:B:C=2:3:4 crafldd == :;— i
C=2:3:4 crafled B C A & W iy
(A) 8:9:10 B 8:16: 24
(C) 8:9:24 _ (D) 24:9:8
(1) e Qsfwelcdiane
B 83 ‘ CCSE2T/2024
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99. Resaching the place of meeting 20 minutes before 8.50 hrs Sunil
found himself thirty minutes earlier than the man who came
40 minutes late. What was the schedule time of the meeting?

(A) 8.00 (B) 8.05

(© 810 T 8.20

(E) Answer not known

sl b Hakigusne 20 Blib opewiGn sald asduet 8.50 wariss
Qeammri. SitiE dnl’ L goukigeasde 30 fiblib gpererGy cups L gns
o aipsmt. @ beallpi &) s8ng 40 bl b sragTopwns abSTE GrEntle
gal LLb Zauhs @figs GCHrb eretie? J

(A) 8.00 | (B) 8.05
(€ 810 | (D) 8.20
() i Qsfuicidma

100. A can do a certain job in 7% hours. B 1s 20% more efficient than A.
How many hours does B alone take to do the same job?
(A) 5 hours (B) 53 hours

\;Zf 6 hours (D) 64 hours -

(E) Answer not. known

‘B’ a@renir ‘A’ ereucueny i 20% afsors Cama Geudmrt. A g
Gausnaanw T% wanfl Grrsdle Qsig) (pré&spm safl®, B wl@b obs
CGaimaaw QFl g Puss ersgemar well GEID ahHiELS Glesmemaumi?

(A) 5 wefl Gprb | (B) 5% wewfl GmHyib

() 6 wafl GEmd - (D) 61 wefl G

(F)  aflsor. Qsfuciama
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UEH -, — Qung <y il
- Part-B —~ General Eng],ish

ehiemmésear :101-200 Quwrss wSLblusrsdr :
: 150

Questions :101-200 | Total Marks

150

101. Identify the figure of Speéch emploved in the following lines.
“The bleeding bark will heal”.
\M Personification - (B) Simile
(Cy Metaphor (I} Oxymoron.
() Answer not known ‘

102. Lights flicker on and off
But fear takes over me.

Identify the Onomatopoeic word in the given stanza.
(A) fear : (B} lights
\W&f flicker - (D) on and off

{(E) Answer not knownl

103. “We were taken from the ore-bed and the mine,
We were melted in the furnace and the pit —
We were cast and wrought and hammered to design,
- We were cut and filed and tooled and gauged to fit”,

What is the poetic device used here?

(A) Ozxymoron (B) Paradox
(C) Assonance . 7 Anaphora
(E) Answer not known

o3 85 CCSE2E/2024
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104. “But of late, my computer has been behaving badly too,

It is so absent-minded, that I don't know what to do”.

Mention the figure of speech used 1n the above lines.
" (A)  Simile T Dersonification
(C) Metaphor (D) Repetition

(F) Answer not known

105. But I know no better spectacle
" Than a comet 1 full flight.

What do you mean by ‘spectacle’ here?
M unusual event that attracts attention

(B) usual situation that attracts distraction
(C) expected event that attracts attention
(D) unexpected situation that attracts distraction

(E) Answer not known

106. It's written in victory and defeat

And every trial a man may meet,

What does ‘it’ refer to in the above given lines?
(A) Sports (B) Hope

M 'Courage (D) Patience
(£) Answer not known
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107. “She puts her life at Stake”

(ive the meaning of the word Stake
(A) brisk (B} courage

{C) ease : U‘,Bf risk

(E) Answer not known

108, Strong is she in her faith and beliefs, _
“Persistence is the key to everything”, says she.

- What does the word “Persistence” mean?

(A) | grief (B} groans
\,QC‘)’ determination - (D) moans

(E)' Answer not known

109. It’s helping your fellowman to score

When his chances hopeless seems;

The word ‘it’ in the above lines refers to
(A) hard work
(B) best work

\,ee)’ team work -

(D) smart work

(E) Answer not known
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110. Match the Poets with their Poems :
(a) Mary Botham Howitt 1. The River
(b) Caroline Ann Bowles 2. The Stick-together Families
(¢} Robert Frost 3. The Spider and the Fly
(d) Edgar Albert Guest 4. Stopping by Woods on a Snowy

Evening
@ & © @
3 1 4 2
(B) 4 - -2 3 il
(Cy 3 4 2 1
D) 2 1 1 3

(E} Answer not knewn

111. For simple sheep; and such are Daffodils ...
With the green world they live in;
and clear rlls ...

The above lines were written by

(A) W.B. Yeats (B) Percy Bysshe Shelley

2T dJohn Keats (D) William Wordsworth
(F) Answer not known '

112. “Come you back unto the fireside and be comrade with your kin”

This lineiis taken from the poem

(A) The Poizon Tree (B) The River
W . The Stick-Together Families (D} Tife
(I} Answer not known

113. “Still seeking what I sought when but a boy,
New friendship, high adventure and a crown”

Who wrote the above lines?

(A) Khalil Gibran W Henry Van Dyke-
(C) H.W. Longfellow (D) John Masefield
(£) Answer not known
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114,

115.
Are the brothers and the sisters who together share their fun.

116.

117.

The woods are lovely, dark and deep
But I have promises to keep

Who wrote the above lines? .

\“Af " Robert Frost (B) Sarojini Naidu

(C) Nisha Dyrene | (TH John Maseﬂelﬂ |

(E) - Answer not known

But the gladdest sort of people, when the busy day is done,

Who wrote the above poem?

(A) D.H. Lawrence \,@Er Edgar Albert Guest
(C) William Wordsworth (D) Mary Botham Howitt

(E) Answer not known

The word ‘Plaintively’ means
(4) Happily £ W Sadly -
(C) dJdovfully (D) Depressively

(E) Answer not known

Praospero’s daughter name was
(A) Portia . (B} Desdemona
(C) " Jaliet | \_aﬁﬂfMiranda

() Answer not known
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118. ‘Practice hard and see what magic can transpire’, was the advice

" given by to Sachin Tendulkar.
\}Kr Ramakant Achrekar |
® At

{C) Sunil Gavaskar

(D) Sar,;hin’s father

(E) Answer not known

119. Tom used the pain killer to
(A) tai:e cai'e of his health
\}B_{ mend the erack on the sitting room floor
(C) to Cure Becky Thatcher
(D)  help his aunt

(E) Answer not known

+120. The adventures of Tom Sawyer S5

(A)  Short Story v(‘BT Novel
(C)  Fiction (D) Tale

(E) Answer not known
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121. What'is the landform formed by silt called?
\/Af Allu;vial - (B) Sinkhole
(C) Meander (D) Fluvial Terrace
(E} Answermnot known

122. Which historical character inspired Young Indira?
(A) Ran-i of Jhansi \ka Joan of Arxc
' (C) Sarocjini Naidu (D) Vljayalakshm1 Pandit
(E) Answer not known .

123. Why did we call Dr. Salim Ali as “Birdman of India™

(A) Hisresearch in climate change

V(ﬂBT His immense contribution to the field of Ormthology
(C) His research in Orthopedic
(D) Iis research in Water Movements

(E) Answer not known

124. In whose biography do you find this statement?

I would sweep them out of exigtence if I had the power.

{A) Jawaharlal Nghru " (B) Nelson Mandela
\,@e‘f Mahatma Gandhi. * (D) Abraham Lincoln
~ (E) Answer not known
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125. Dr. Salim Ali was introduced to the serious study of birds by
\/6 W.S. Millard (B) EHA
(Cy Norman Boyd Kinnear (D) Amiruddin
| (E) Answer not known

196. “Elephant Rides are for the Royals. Forget this Dream” — Who said
this to Rani of Jhansi?

(A) Baji Rao \# Moropant Tambe
() Gangadhar Rao " (D) Pandit Dikshit

(E) Answer not known

127. What was the name of the system that Nelson Mandela fought

against?
(A) Civil Rights M Apartheid
(C) Vialence (D) Sathi

(E) Answer not known

128. Abraham Lincoln Proclaimed the abolition of siavery on

(A) May 1, 1863 \,(Iﬁ january 1, 1863 -
(C) January 1, 1564 , (D) May 1, 1864

(E) Answer not known
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129. Mateh the words with their phrases :
Words Phrases:

{a) Friendly relationship 1. ran out _
(b) Meet by chance 2. get along with
(c) Use completely 3. goaway

(d) Leave from.the place - 4. come across

@ & @ © .
(A) 3 2 1 4
By 3 1 4 3k

2 4 3 1
qm), "2 B Ayl
(E) Answer not known

130. Choose the correct synonym for the underlined word :

Fill all the bowls, tubs, pails and pitchers with fresh water.

(4) mugs - B jugs
{C) buckets | (D) pots
(E) Answer not known

131. Choose the correct ‘Synonym’ by matching Column A and B :

Column A Column B
(8) Affluent 1. Widen
(b) Dilate 2. Spire
{¢) Smacks 3. Waealthy
(d) Summit 4, Drive
(@ (M @@ (@
Ay 8 2. 4
(B Zw L B 4
wel 3 1 4 2
M 3 4 1 2

(E) Answer not known

TF : : 73 ‘ ‘ CCSE2E/2024
' [Turn over

aGnth obsNet.Com



132,

133. Fill in the blanks with suitable article. |
India 1s largest democracy in the world.
(A) an v the
(© al , D) a
(K) Answer not known
134. Tdentify the correct preposition from the options given below,
1 will have finished this essay Friday.
(#) in (B) on
() at vl by
(F} Answer not known
135. Choose the correct question tag :
This 1s the bus that I have to travel, ?
(A) is this? (B) iso’t this?
Q) isit? P isn't it?.
{(E) Answer not known
136. Select the suitable tag.
He lives in Europe, ?
(A) isn't he? (B) wasn’t he?
(C)  didn’t he? BT doesn’t he? /
(E) Answer not known
CCSE2E/2024 | 74

Add a prefix to the word ‘Natural’ to complete the sentence.

His job 1s to investigate natural phenomena.
(A) in (B) non

2 super (D) pro

() Answer not known

aGnth obsNet.Com



137. Match the Non-finite vexb correctly :

Column A Column B
(2) Walking is healthy habit 1. Infinitive

() T like to walk early in the morning 2. Present Participle
" (¢) Having walked a long distance

‘ I felt tired 3. Gerunds

(d) These are my walking shoes 4. Past Participle

@ () @ (@
A4 1. 2 3
& s 1 4
© 1 3 4
o 3 1 2
(E) Answer not known

138. Tdentify the sentence pattern of the following sentence.

I painted the car blue.
W SVOC v (B) SVC
(C) SVA | - (D) SVOA
(E) Answer not known

139. Identify the sentence pattern of the following sentence.
In 1998, Frank moved to London

WA ASVA (B) ASVO
(C) ASVC (D) SVIODO
(E) Answer not known -

140. They rejoined the group as Sarah passed out and coffee.
(A) desert (B) dirt '
\Q@f dessert D) dish
" (E) Answer not known
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141. Select the grammatically correct sentence :
(a) My son is fond of music
(M) My son is fond to musie
(¢) My son is fond in music
(d) My son is fond with music
(A) (b) and (c) are correct (B) Only (d) is correct

(C) (a) and (d) are correct \(DTOnly {a) is correct
(E} Answer not known ~

142. Which of the following is a noun? 7
(A) Put (B) Walk
M Sun - ' (D) Call

()  Anpswer not known

143. A .of hirds were {lying on the sk;}.
{A) swarm of (B) group of

flock of - (D) herd of
(£} Answer not known -

144. Identify which 1s the correct singular word and select the answer
from the codes given below.

(a) Crgses
(by Media

(A) (a)is a singular word
(B) (b)1is a singular word
(C) Both (a) and (b) are singular word

\)BY Both (a) and {b) are plural word -
(E) Answer not known
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145. Foreign + Exchange =

Find the blended word.
(A) . Foreign change | (B} Foreign exchange
(C) Forex change - \JE)' Forex .

(E) Answer not known

146. Which twd words blend together to form the new word ‘Camcorder’?

(A) Cam + recorder y?Br Camera + recorder
(C) Camera + order - (D) Cam + corder
(E) Answer not known

147. Which of the following is correct for?

Overcont
{A) Noun + Preposition (B) Noun + Noun
(C) Verb+ Noun \,ﬁEr Preposition + Noun .

(E) Answer not known

148. Identify the compound word that is :
Gerund + Noun

(A)  Cry baby (B) Sun rise
Bleaching powder’ I Sun set.
(E) Answer not known

149. Replace the underlined word with its American word :

We should use the Bin for the garbage.

(A) Dust Bin | B Trash Can
(C}) QGarbage Bin (D) Trash Box
(E) Answer not known
- 9 ' 77 _ CCSE2E/2024
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150. And I Sunned it with smiles

Ideni;ify the alliteration in the given line,

(A) I-it (B) And —with
\'(Cf _ Sunned — smile ) Sunned — with

(E) Answer not known

151. To win, run as fast as the wind

 Identify the.figui'e of speech in the given line.
(A) Personification - (B) Metaphor
\M Simile - (D) Anaphora

(E) Answer not known

152, Which of tﬁe given option is a Metaphor?
(A} Life is like a chocolate box |
(B) Raj is like his twin brother

M His words are pearls of wisdom -

(I)) The bus is slow as a snail

() Answer not known
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158, Courage 1s0’t a brilliant dash,
A daring deed in a moment's flash;
It isn’t an instantaneous thing
Born of despair with a sudden spring

Write the Rhyme scheme of the poem.

(A) ABAB (B) ABBA
W& AABB (D) AAAB

(E) Answer not known

154. Speak gently to the young, for they
Will have enough to bear —
Pass through this life as best they may,
“T' is full of anxious care!

Write the Rhyme Scheme of the given stanza.
W ABAB/ | (B) ABBA
(C) AABB (D) ABAA

(E}  Answer not known

155. And all I ask is & windy day with the white clouds flying,
And the flung spray and the blown spume, and the sea-gulls crying.

. The rhyming words in the above lines are
(A) windy, white (B) spray, spume
(C} clouds, gulls : \‘(B)’ flying, crying -

(E} Answer not known
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156. And the wheel’s kick and the wind’s song and the white sail’s shaking

Pick out the figure of speech given in the above poetic line.
(A) Metaphor (B) Simile

\[6 Alliteration (DY Hyperbale
(E) Answer not known

157. “T must go down to the seas again, to the

Vagrant gypsy Iife”

Gypsy life means
(A} A Sea Captain’s Life
\/EY A Wandering Man'’s Life
(C) A Historian’s Life
(D)  An Explorer’s Life
| (E) Answer not known

158." “But we ants never borrow;
We ants never lend”
Why do you think ants neither borrow nor lend?
(A) Ants are not wise and hard working

(B) Ants are lazy

\}Zr Ants are wise and hard werking -
(D) Ants are wise and silly
(E) Answer not known
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159. You were the dad chosen for meé

The author’s dad was chosen by

(A) Mother ~ - (B) Neighbours
\}Cr  God o g (D) Friends
(E) Answer not known W

160. Then my computer caught a virus, and fell very sick,
So I had to call in a doctor, double quick.

Why did the poet call the doctor?
vﬂr as the computer fall very sick

(B)
(€
)
(E)

as the computer fall down
as the computer got hurt

as the computer fall asleep

Answer not known

'161. “And all I ask is a merry yarn from a laughing fellow-rover,
And quiet sleep and a sweet dream when the long trick’s over”

The ahove lines are in the poem —

(&)
- (©

A Thing of Beauty \,GBr Sea Fever
Lessons in Life | (D) Making Life‘Worthwhile

(E) Answer not known
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162. Autumn is English
in red, yellow and brown
Autumn is Indian

Whenever leaves fall down

Who wrote the above f)oem?

\,(Ar Nisha Dyrene (B) William Wordsworth
(C) D.H.Lawrence (D) Mary Eotham Howitt
() Answer not known

163. “And one day, my naughty computer actually gobbled a worm,

~ And behaved so erratically that it made me squirm”.

The poet was made to squirm because of the ———— behaviour of
the computer. ;

(A) absent-minded (B) dreadful
\M efratic - (D) hasty
(E) Answer not known

164. Every soul that touches yours
Be it the slightest contact

Who wrote the above lines?

(A) William Shakespeare (B) Robert I'rost
&y George Eliot (D) John Masefield -

(E) Answer not known
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165. Who was chirping at the edge of the woods?
(4) Cow - (B) Monkey
(C) Dog . & Birds -

(E) Answer not Jnown

166. On the way to his‘ home, Peter stopped to pick or to
listen to the
(A} Blue flowers, the water falls ‘
vﬁBf Blue flowers, the rabbits’ soft tread
(C) Yellow flowers, the rahbits” soft tread
(D) Yellow flowers, the water falls
(E) Answer not known
167. The setting of the play ‘The Dying Detective’ is in
(A) Victor Savage’s house
(B) A New York city apartmeﬁt
(C) Dr. Watsexfs House
v(ﬂf ‘Sherlock Holmes' bedroom
(E) Answer not known
168. Sir Arthur Ignatius Conan Dayle was a writer.
. (A) TIrish ‘ (B) American
Ve British © (D) French
(E} Answer not known
ooy : 83 CCSE2E/2024
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169. State which statement is correct :
(1) Little Czar was a European brown bear cub
(2) Little Czar was an Indian brown bear cub
(3) | Little Czar was an Américan brown bear cub
(4) Little Czar was a Germanian brown bear cub
w1 (B) 2

© 3 o) 4

(E) Answer not known

170. Who brought up Sir Lsaae Newton?
(A) Grandfather v(’Br Grandmother
(C) Father (D) Mother
(E) Answer not known

[

171. Beauty lies in the beholder's

(4) Head A Eyes -

(G) Brain (D} Ear
(E) Answer not known

172. “My Reminiscenves” was written by
(A) Kamala Markandaya (B) Ernest Hemingway
(C) Toru Dutt , \)Df Rabindranath Tagore

(E) Answer not known
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173. “Great Leaders have something in them which inspires a whole

people and makes them. do great deeds”. Who quotes this?

(A) Dr. C.N. Annadurai (B) Gandhi
\M Jawaharlal Nehru (D, Abraham Lincoln

(E)  Answer not known

174. When was Subash Chandra Bose hoyn?

- \J& January 23, 1897 '(B) January 23, 1891
(C) January 26, 1901 (D) January 23, 1895

(E) Answer not known

.1 75. Helen Keller's Autobiography was named
(A) My Story \,(BT The Story of my L?fe
{Cy Experiments with my Life (TH My Tafe
(E) Answer not known

176. How did Kalpana Chawla die?

uﬁr Space Shuttle Disaster . (B) Aircraft Disaster
(C) ‘Rocket launch Disaster . (D) Satellite Probe Disaster

(E) Answer not known

1% 83 CCSE2E/2024
[Turn over

aGoth obsNet.Com



Read the following passage carefully and answer the questions given
below (177 — 181) :

Raj was upset becauée he had done poorly in his English test. His
srandmother sat with him and gave him a pencil. A puzzled Raj
looked at his grandma and said he didn’t deserve a pencil alter his
performance in the test. Hiz grandma explained, “you can learn a
great many things from this pencil because it is just like you. It
experiences a painful sharpéning, just the way you have experienced
the pain of not doing well in your test. However it will help you be a
better student. Just as all the good that comes from the pencil is
from within itself, you will also find the strength to overcome this.
hurdle. And [inally just as this pencil will make its mark on any
surface, you too shall leave your mark on anything you choose ta”.
Raj was immediately consoled and promised himself that he would

do better in future.

177. Raj was upset as he had done in his English test.
(A) well \yBr poorly . :
{(C) better (I average

(E) Answer not known

178. His grandmother gave him a
(A) sketch (B) pen

\ﬂ( pencil (D) painting box
(F} Answer not known
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179. Granny compared e - with the pencil.

(4) Babu & Raj
() Ravi | | (D) Rajesh

(E) Answer not known

180. Rajs pain of not doing well in his test was compared with

of pencils.

(A) writing | (B) drawing

(C) sketching \ﬁfsharpening
(E) Anawer not known =

181. Raj understood that failures are stepping stones to
M success . {B) consoling
(©) climbing - ‘ (D) strength

(B} Answer not known

- 182. Choose the correct meaning of the phrase.

Reconcile to

(A} Maintain o \kﬂrAccept half heartedly
(C) Axrive suddenly (D) Continue ’

(E) Answer not known
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183. Choose the correct Antonym for the underlined word ‘Concentrate’
from the option given.

(A) Continual (B) Preventable
Distract - ' (D) Wise
(E) Answer not known |

184, Match the following with correct Antonyms -

Column A Column B
(a) brisk 1. happy
(b) deéperate 2. criticize
(c} plaintive . 3. hopeful
(d) praise 4. dull

@ B © @

A4 1 3 4 2
4 3 1 2

© 4 1 3 2
3

@ 4 1 2
(I) ° Answer not known

185. Select the correct prefix word for ‘Violet’ fram the options given :

W ultra (B) em
(C} super (D) in
(EY Answer not. known

186. Pick a suitable prefix for the given word from the given opfions :

Understand

(A) re - B ir
! mis D) sub

{E) Answer not known
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187. Choose the correct tense form for the following sentence.

If she works hard, she a scholarship.
(A)  would get (B) would have got
will get - (D) won’t get

(E) Answer not known

188. Select the correct tense.

If you - hard you would have won the relay match.
(A) - will work . (B) works
(C) working \,(ﬂr had worked -

(E) Answer not known

189. Select the correct passive form of the sentence given.
~ She had already sent the parcel

(A) The parcel bas already been sent by her
véBf The parcel had already been sent by her -

(C) 'The parcel was already sent by her

(D)} The parcel was already sent to her

{E) Answer not known

190. Choose the correct Active Voice for the given sentence :
The rules should not be violated.

(A) You should violate the rules.
() Anybody should not violate the rules.
(C) . Do not violate the rules.

Nobody should violate the rules. . -
(E) Answer not known '

191, Which of the following is gsuitable to complete the meaning?

I stopped 1o him.
(A) totalk e B talking <
(C} having talked (D) being talked
() Answer not known
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192. Someday people will : of our great exploits.

(A) right "~ (B) reads
write (D) wrote
+ (K) Answer not known

193. Find out the error part in the given sentence.

| found an one rupee coin / in the plavground / while playing

A B C
\,(A( T found an one rupee coin (B) in the playground
(C)  while playing 4 (D) All are incorrect

(E) Answer not known

194. Choose the correct article.
This has got to stop immediately; Justice Mathematics said in

stern voice, rapping ————— hammer for silence in
—— court.
(A) a,the, a (B) the, a, the
@7 a, the, the (M) a, a, the

(E) Answer not known

195. Choose the correct preposition :

Miranda hung her father saying, “WHhy are you so
ungentle™

\(Ar upon - (B) on

(€) in (D) with

(E) Answer not known

196. Select the correct meaningful sentence from the following.

(A) My Sister and friend have come. .
(B) Her cousins as well as her friends has received prizes.
(C) The whole class are attentive.
News never comes too late. 7
(E) Answer not known
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197. Pick out the complex sentence from the given options.

" (A) Tcould not make out the meaning of his absurd behaviour
\)B)' One who does not love one’s country is a wretched person
* (C) The children strolled through the meadow
(D) The moon was bright and we could see cur way
(B) Answer not known

198. Find out what kind of sentence is given below.

‘If he is at home, I shall see him’.
(A} Simple (B) Compound

\,(Zr Complex (D) Imperative
- (E) Answer not known

199. Combine the pairs of sentences by choosing the correct sentence.

I saw a Tiger. It was wounded
(A) Isawa Tiger was wounded \@Eﬁ saw a wounded Tiger

(C) A wounded Tiger saw me (D) I was wounded by the Tiger

(E) Answer not known

200. identify the correct Degree of Comparison. :
(1) Very few people 1n this town are as generous as Mr. Mohan.
(2). I cannct do anything better for you than this.

A) (1) Comparative Degree (2) Pozitive Degree
\,@Bf_ (1) Positive Degree (2) Comparative Degree .

(Y (1) Superlative Degree (2) Comparative Degree

(D) (1) Positive Degree (Z) Superlative Degree

{E). Answer not known
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